THL WNM® B AL

ot BEE R

B N

YBL RABOH ARIRE =S LB
(HLEEZS 160~200)
(I A: higtrEExdb Il B T4 Gb)

YBL series Flameproof Three Phase
Asynchronous Motor for Centrifuge
(Frame 160~200)

L(Factory: Marking Ex db Il B T4 Cﬂ

& AW BB B

Operation Manual

ZRIEEEINROBRAE

Anhui Wannan Electric Machine Co.,Ltd



OB EEN . R b AL
FEME BB Z AT, E AT, DUERIER B 68 R A4

1 7= m itk

FRA T A7 1 YBL R A B O BRI 2 = A0 0 BB AL 43 AL A ¥« BB B = S 20 s B,
P GB/T 3836. 1-2021 (IRSEEIAEG A ML B &5 1 40 B A 22K ) Al GB/T3836. 2-2021  (IRNENE
WEE AR A 2 85 BRI “d” RIS BIER, HIRBREL . HEiBFREN Ex db
Il AT4. Ex db II BT4. Fofi&H T L) (Ex db II AT4. Ex db II BT4) FH KA. BZTI ~ T4
YRR SR VR S B O R E IR B W Bt . 2 RVHBIHUE #2455 O WL B %
P, R SRR T, B mFE R IR . RBIN . AREROK . 3BT SRR

PATFRHE: Q/WN. 263—2022 (YBL H A B LoHLH BRI = A0 7 0 B sl bl (HLEES 160-200) )

2 =mBS KRB
Yy B L 180 52 — 4
WU AT GRS Rk O KB
LEE O
HLALH
b 1Y
S5 AN
3EHEEIRERRFHG
3.1 & E AR . RIREH . BEAREHREL.
=1
5 51 ki 405
il T1 T2 T3 T4
ki, bty Wke | This ke 228, | he. &k, Pk,
IIA ROW WoR, ZH | HEE, OB, NEE. | k. B0, ok
K. —EMIR. BERR | AR P SR IR
N My 13T T | WK UM EE. | SRR
11B Zf}jﬁzmkﬁ %:LZJE% 1 .2—% Eﬁ%ﬂiﬁ’ﬁ@%ﬂl%ﬂkﬂﬁé\ :%@‘%
ANk B A & VY5 20




3.2 BT A &4

w W W W W W w
DD DD NN

2.
L2 B RIR BRI, HiR S A 40°C, BN -15C,

-3 B A SR AR E Sy 90%, [RINi% H H PR E AR & T 25°C.
-4 HENHUEE B R A 380V, AUE MR N 50Hz, AZERNF %K.

.5 LB E A DL
.6 HLEHLAM A
T HBINLSATES, HUE . R RIS AE fE R 25 4% GB 755 HUHE .

LR AT 1000m.

BTARM (SDD AREMERESIER, FCVFwISIES)
rA MR GREZTHE) ERUE SOV AR TAE %4 T R 130°C.

4 BRI EERASHRZREHE

41 EEBARSHIE 2
x2

g | me | we | we | we | . | O
e T | mE | ha | MR | g %f GE
kW \ A Hz r/min COS @
YBL160S1-2 2.2 380 4.8 50 2900 85.0 0.82
YBL160S2-2 3.0 380 6.5 50 2890 85.0 0. 82
YBL160S1-4 1.5 380 3.9 50 1445 84.0 0.70
YBL160S2-4 2.2 380 5.5 50 1440 84. 0 0.73
YBL160S3-4 3.0 380 7.1 50 1440 85.0 0.76
YBL160S4-4 4.0 380 9.2 50 1430 85.0 0.78
YBL180S-2 4.0 380 8.5 50 2917 87.0 0.82
YBL180S1-4 5.5 380 11.5 50 1415 86. 0 0. 85
YBL180S2-4 7.5 380 16.2 50 1410 84. 0 0. 86
YBL180S3-4 11 380 22.3 50 1410 85.0 0. 88
YBL180S-6 7.5 380 16. 8 50 945 84.0 0. 81
YBL200OM1-4 11 380 22.6 50 1445 89.0 0. 83
YBL200M2-4 15 380 31.0 50 1440 89.0 0.83
YBL200S—-6 7.5 380 16.7 50 960 84. 0 0.81
YBL20OM1-6 11 380 22.6 50 950 87.0 0.85
YBL200M2-6 15 380 32.7 50 905 84.0 0.83
YBL200OL1-6 18.5 380 39.9 50 920 82.0 0. 87
YBL200L2-6 22 380 46. 6 50 920 82.5 0. 87

4.2 BN REE BB RN IMV16.




5 XE4EH

5.1 HBIHLAEB L GO T HBIHLTIEE, B =R T B TRE RS (SR RS R
MERMP R, NR— Db+, AT ESAE R — ChM5) HMED ., EHL G SRk
Sk A “0” B B .

5. 2 FL I LA il e e 35 AR SR Y i T 0 e 3 R

5.3 LI Al R FH 5 R i e i [50 A FP- T Bh

5.4 HENHLEARLM WA 1. HI60 HLEEFEL G 45k LI 2. H180-200 ML #E £k & 45k UL 3.

6 B ER

6. 1 A RFIHAIHARRERE . & BB A I A 5 BRI SR AE R, R R ALl B HLAk 7 A
AR B A 5 R ER PE AR 0028 T s 9 SBRIE G A VR IS L BRI A T 5 R AN IR ME IR B )
R IE o

6.2 WAL AN o CIIbLEE . s, FRMN . BAEE. BLRERS) , BilTEHA4
JEJ15 1. 5Mpa , BUERA]A 10s+2 [#EF R, AR RS .

6.3 MBI G MK, [MFR. RIHBSE . BAGNHME RhE. WESRS &I
[F) 8 FEL D 2 5% T i B 6 S 45 GB/T3836. 3-2021 HIFHZE

6. 4 BEHE PR IR AT 5T IR AR 2 R A S IR, BTk BATAA M .

6.5 HLPE. Uiide. PN, HEES. WA, HEBR. miTE (BHEEHD . . BIKR
% 3 Pl B R T A

6.6 FEAE LAFIRE T, HBINLA 2R TS IE R 3 IHE . B2 D AMRR B A TS & T B
JH LS 1) A0 VRIS

=3
FRNEMEVR S T1 T2 T3 T4
FELATL 3% THI B e FR VR C 450 300 200 135

7 ®ES5ER
1 HEIHLE BN R LB N 51 Tl
L2 AR B R EHLAN R  SE I T B HLEA A AR I S B A SR A
. 3 PRSI SE 5 F AT R IR IR, SR AT ST RA S0
<A AT B R T IS TG 2 LB i 68 43 11 R ) SR
b KA EBIHLE T H A G BB MM T 20 MQ.
-6 ZORHT NAT R G T MNURE IR QGERRI BRI, I HLF) .
CTHEHEEIHLN B AN OHLSISE A, R N [ BB AL BT T, A% R A A AR AR
e 2 0 4 2 e S A
7.8 BRIHEINLA RIRZL, ML () AEdd. JK.

S B S S

-3




7.9 AR AMEEL S % B R I FLARARSE . iR/ N EAR A D1, K EAR A D5, EHEM A
BRI T B A% LR 3R 4 CAriR 3 sl NN RN BB RO D « iidBEAZEAK
T lmm, IR SE, ORIE S 3 Pl 5 A 4 ) B e P e A R TR T AL, 7 UK Ok 2 R
HRPERE .

=4
HLHEE ek | FHERNX | DI D2 D3 D bl b
160 ®20 $22.5 - ®37 0 0.1 21 23
BEHL Kl 4
180-200 d 14 $ 20 d25 | 42 0 -0.62 24 26
PN X
= __.'_s ________ — r—9 =1
§<Xi X X
<]
bl
b

7,10 BN USRS R T B (6T T 2 ], VRS RN B e, B\ BE AL R Ik 2
EHE, BN IE FUR AR = % SR S, B 1)

7 EEHLIOARRE U R v CRELD W (IE%) SUTHASNRAFE AL By C AR,
FL ) L A L2 RO 17, 75 0 L L

712 HUEDHLPY . B b A ST e

713 MEIHUE L, SR AFIEIRE, 7R T SRR, IS R L
R A IE N R 7 TR GBS

7,14 B HLAESE AT i RIS, B A ARk AR (VR B R BT 40T,
AR 00°C ) 45, Sh. WRUBAHES, BALESHLE, MHHRRIE 7 Al .
7. 15 £ T o LAY OB HE T B2 DR WL 5.

%5
b T fie 95 A

TR
75
BRI 510 5 R
S i
H L 0L 4 7 24
e
SRR 0 BRI
BT 5 2 SR AR B

CRILKSZIE S ON

HLBIHLAS BE L Zh

RN AL RS S EARE T 113

D — W DN =W DN =




%5 (%)

il 7 AR

T EA %
TR £
Bl R AL HE
T M4k
T

L ORI

LR K

WA R

I IR LB L P 46 SR
b L R K S )

T XTEEMERE, YR A LRBE W IERBERMER, BRELEARARFHREZESHE HKER.

8 RFESHIE

8.1 NN N IR & AN, AP AR A, AR HAKRLBSHE R BN, AR R
Ml o B E N FEENHLA CEoL A A 5 v B AT Tl A 3 1 100mm) - o

8. 2 MEIHLIBAT I Bl K VPR E A 95 °C (EEIHE) , HUKEIZIT 2500 /N (Z12E4E)
FRE A IR, QR I I A BT 20 R I S e, ST, UK Rl AN R T P R I A &
Hei2hE B 0O TARTE BT, T VR R RS BE T, TR IR HERE R F A AR SR E T R 3 5 (GB/
T 7324-2010) , fnfiE 4 MU B2 2/3. Bl S L3 6.

8. 3 Hr ke AN ML ByE: R AR AR T o S0 FL B HLA , RLSE Rt XUER L P4 st (e iy (1) V B 2R,
PRF 0o oo o6 O [ B, BT AT AR MRS . BTG R AR RORAR N B, KIS i R E R
WU EE A . BT, T A BRI IR 204-1 PitE .

8.4 HNLSZW 5, W ANE TR AL B IS T IS F o T MR A B T SR R ML T B R B A o FE R I A
I FE RLIE T, AR T 145°C o A B FRURVE TR, O™ E 2 B B, B
RAEHBMBIMNG . O HILETHEBRES, HBAHRRN 0.6 ~ 0.8 f54T HIE N H .

8.5 WG, Alid FESA MR R. RF. Gl M. RSB RmT, B3 A 7 R EL
b R O T SR A R BN L e LI R, DASCASREAE AT .

8.6 BiMER M4 Hik, R LW HE AR N R KRB ARRHERAT4EE . BRI

b G R

LB A

s W NN =[O R W N

&6
o5 b A i A (£ (SAN) AR R CHD
YBL160 6211-2RS 6209-2RS 51208
YBL180 6313-2RS 6313-2RS 51310
YBL200 6316-2RS 6315-2RS 51312

9 BN ERIE

9.1 HUNUPAZ RIS T, G b B SR B FE I (b, LLGe N HLZ W, Hhih.
9.2 WAPHREMERURRT,  ASR BB N BUA F 2 i bLi e 2

9. 3 P47 Bz b L BUSLOU B R, 5 5B R 0 MBS




BEREWES 1H

gu~ BORHH hew R iy
7 N
oy = 2 % E3g
f,. ] il
EE T i (R S | e 22T
3 a
. EEE My =
W ..ﬁw .
— 171 | Ll |
&y ﬁf_ M1 fw R
W ) & TR
EEEHY T L

- ﬁi EEREY

UEES B HEH
e B S B
43

6




HHEHEH09IH CE

awy [

eI

‘

ﬂmg%//w

FERE @R FEY EOEHEY omodmy $rg  H¥EHF




B3 HISO-2004 4 & 24




We are truly grateful for your purchasing of Wannan Motors. Before using the motor, please

scan the QR code to read the manual so as to use and maintain the motor in a right way.

1. Summary

YBL series flameproof three phase asynchronous motors for centrifuge is of totally enclosed,
fan-ventilated, squirrel cage type. This series motors are produced in conforming to GB 3836.1-2021
“Electrical equipment used in explosive environment-Part 1: General Requirement” . GB3836.2-
2021 “Electrical equipment used in explosive environment-Part 2 The Apparatus with the flameproof
enclosure ‘d”” With Ex-marking “Ex db II AT4 Gb. Ex db II BT4 Gb”, this series motors are
suitable for workshop where Category Il Class A and B flammable gas or the flammable mixture with
air and steam of Temperature Group T1~T4 exists in. With the features of high torque, low noise,
small size, high capacity and simple mounting, this series motors are ideal for high-speed centrifuge in
pharmaceutical factory.

Executive Norm: Q/WN.263—2022 “Specification for flameproof three phase asynchronous

motors for centrifuge (frame 160~200)”

2. Designation and types
Y B L 180 S2—4

Poles

Frame Size (Short frame 2rd length)

Frame central height

Centrifuge application

Ex-proof type

Asynchronous motors

3. Application circumstance

3.1 The applicable common inflammable gas, steam and temperature groups are listed in
the table 1 below:

Table 1
Temperature Groups
Type
Tl T2 T3 T4

Niztl;z;r;e,sft:tlz?lz, Butane, propane, ethyl Pentane, hexane,

propane, sty ’ benzene, methanol, heptane, octane, decane,
II A | toluene, xylene,

. ethanol, propyl alcohol, | cyclohexane kerosene,
carbon monoxide, , . .
. . Benzene alcohol diesel oil, gasoline
acetic acid
Propine, Ethylene,butadiene Dimethylether, ethyl methyl ether,
propylene aldehyde, .

II B | cyclopropane, coke | epoxy ethane, epoxy diethyl ether,

oven gas ropane ydrogen furfuryl alcohol tetrafluoroethylene

& prop furan, hydrogen sulfide Y




3.2 Operating condition

3.2.1 Not exceed 1000m above the sea level.

3.2.2 Ambient temperature varies as seasonal variation, but the temperature shall not beyond the
range -15C ~+40°C.,

3.2.3 The maximum environment relative humidity shall be no more than 90%, besides mean
minimum temperature of this month shall be no higher than 25°C .

3.2.4 Motor’s rated voltage is 380V, rated frequency 5S0Hz, F insulation class.

3.2.5 The rating here refers to the continuous rating power on the basis of S1 operation system,
the motor allows direct starting.

3.2.6 Maximum temperature of motor casing (by thermometer method) shall be no higher than
130°C even it is working under the most severe condition defined by provision.

3.2.7 Deviation of voltage and frequency from the rating value at the motor running time shall be

in accordance with the standard of GB/T 755.

4. Motor technical data and installation type

4.1 Main technical data see table 2

Table 2

Rated Rated Rated Rated Rated Eff Power

Model Power Voltage Voltage | frequency spee':d % Factor

kW v A Hz r/min COSD
YBL160S1-2 22 380 4.8 50 2900 85.0 0.82
YBL160S2-2 3.0 380 6.5 50 2890 85.0 0.82
YBL160S1-4 1.5 380 3.9 50 1445 84.0 0.70
YBL160S2-4 22 380 5.5 50 1440 84.0 0.73
YBL160S3-4 3.0 380 7.1 50 1440 85.0 0.76
YBL160S4-4 4.0 380 9.2 50 1430 85.0 0.78
YBL180S-2 4.0 380 8.5 50 2917 87.0 0.82
YBL180S1-4 5.5 380 11.5 50 1415 86.0 0.85
YBL180S2-4 7.5 380 16.2 50 1410 84.0 0.86
YBL180S3-4 11 380 22.3 50 1410 85.0 0.88
YBL180S-6 7.5 380 16.8 50 945 84.0 0.81
YBL200M1-4 11 380 22.6 50 1445 89.0 0.83
YBL200M2-4 15 380 31.0 50 1440 89.0 0.83
YBL200S-6 7.5 380 16.7 50 960 84.0 0.81
YBL200M1-6 11 380 22.6 50 950 87.0 0.85
YBL200M2-6 15 380 32.7 50 905 84.0 0.83
YBL200L1-6 18.5 380 39.9 50 920 82.0 0.87
YBL200L2-6 22 380 46.6 50 920 82.5 0.87

4.2 Motor mounting type IMV16.

10




5. Subject Structure

5.1 Terminal box, at the top of the motor, has 3 connection terminals. This series motors have 2
kinds of wiring structure: rubber cable (plastic cable) and steel pipe wiring, each with 1 grounding
terminal, and be made with 1 (small M5) outlet. Rabbet between terminal box body and its cover shall
be fitted with O-sealing ring.

5.2 Motor is fitted with and skeleton oil sealing and shaft surface oil sealing to protect motor shaft
rotation part.

5.3 Motor is fitted with sealing ball bearing, cylindrical bearing or plain bearing.

5.4 Subject structure of the motor see figure 1, and the structure of terminal box see figure 2

(H160). figure 3 (H180-200).

6. Explosion-proof highlight

6.1 The series motor highlights its explosion-proof feature. If the explosive mixture inside
the motor explodes, the motor shall not be damaged or deformed to the extent that may affect its
explosion-proof performance. The flame inside should not pass through conjunction plane to explode
the flammable mixture outside the motor.

6.2 Drilled components of the flameproof motor (such as frame, end cap, bearing inner cover,
connection box cover, connection box body etc) should be tested with 1.5Mpa static pressure for
10S+2 and will be checked as qualified only by without dripping during or after the test.

6.3 The length of the flameproof conjunction plane, clearance, roughness of the surface, the
creepage distance and electric clearance among bare conductors or between bare conductor and metal
casing, all shall be in accordance with GB3836.3-2021.

6.4 Spring washer on fastening bolt can prevent the bolts releasing from flameproof casing.

6.5 Frame, end cover, bearing inner cover, terminal box cover, terminal box body, terminal array
(or terminal block), axis fan, shaft, rubber seal ring are all flameproof components.

6.6 Motor casing’s max temperature shall follow the stipulation of table 3. Temperature at cable
entry shall be no higher than the limit temperature of each cable there-through.

Table 3
Explosive mixture Tl T2 T3 T4

Motor surface allowable maximum temperature 'C 450 300 200 135

7. Installation and usage

7.1 Motor should be installed by technician.
7.2 Check the appearance of the motor to see whether it is in good condition, and check the
nameplate to see whether the data is conform to actual requirement.

7.3 Check and guarantee all components are correctly connected and fixed tightly.

11




7.4 Check and guarantee all flameproof components are without crack or defects affecting
explosion-proof performance.

7.5 Measure stator wiring insulation resistance, and the value shall be no less than 20 MQ.

7.6 Dismantle the components such as terminal box from casing before installation, especially
concern about explosion-proof surface and UVW cables marking.

7.7 Lift motor and put motor into centrifuge bracket from top. Fix motor onto plain installation
base with bolts. And assemble each components of terminal box.

7.8 Power supply cable shall be neither too long nor too thin.

7.9 External diameter of the cable should fit bore diameter of the seal ring. Cable’s min diameter
is D1, max is D5; seal ring is made of rubber XH-21, specification and dimension see table 4
(concentric-ring of seal gasket can be striped off to fit inner diameter of lead-in cable). The diameter
gap should not exceed Imm. Clamp the connection plug and ensure that there is no clearance between
seal ring and power cable as well as between seal ring and connection box body, otherwise the motor

will lose its flameproof function.

Table 4
Frame Cable Sealing ring Dl D2 D3 D bl b
160 Rubber- . D20 022.5 - ®370-0.1 21 23
heathed cable Fig 4
180-200 |3 ol4 020 025 042 0 -0.62 24 26

P _pt N P

L NP

bl

7.10 The cable core shall be attached between arched washers, and thorn on the cable corn can’t
be protruding in case of core damaging when pulling it out through cable entrance. The lead-in cable
shall be fixed by connection board and arched washer to avoid movement.

7.11 Motor will rotate clockwise viewed from driving shaft end if the terminals U(yellow
cable),V(black cable),W(red cable) are connected respectively to power line A, B, C. Otherwise the

motor will rotate anticlockwise.

12




7.12 Ensure that there is one terminal in the connection box being grounded.

7.13 Correctly connect all wires, turn on power for no-load trial-operation. Only when the motor
runs smoothly in the test-running, can it be put into load operation.

7.14 When motor is found to be abnormal, like strange noise, burning smell, fan/blower locked
or bearing overheat(bearing temperature exceed 90 when ambient temperature is below 40°C ), stop it
immediately and have inspection to find causes and solutions.

7.15 The common failures and their solution are listed in table 5

Table 5

Failure Causes

1. Improper installation
Severe vibration 2. Shaft bending
3. Poor conical degree matching of shaft and rotor.

1. Supply power output failure
Start failure 2. Motor wiring broken
3. Overload

1. Overload protection setting too low

Load- ion fail .y .
oad-operation failure . Rotor conductor bar/wiring broken or welding-off

NS

. Bearing wore

. Less lubrication grease
. Much lubrication gerese
. No calibration for axes

. Grease hardened

Bearing overheat

(2T ~NERVS I NS R

. Overload

. Too low voltage
. Too high voltage
. Poor ventilation

Motor overheat

AW N —

1. Motor insulation broken

High current or tripping overload

[\

Note: Contact the manufacture or consult technician when the problems are still unsolved with above
methods

8. Maintenance

8.1 Examined and clean the motor periodically, ensure that no dust accumulated on motor casing,
spraying with tap for cleaning is not allowed. Guarantee no media will get into motor from drive end
(media in centrifuge shall be >100mm lower than shaft end )

8.2 Bearing temperature should not exceed 95 C (Thermometer method) during operation. The
bearing should be inspected every 2500h (about half a year) operation. The bearing grease should
be replaced immediately if the grease is found to be spoiled (Sealed bearing need not replace its
lubrication grease in its lifetime). But the waste grease in bearing internal/external cover, oil chamber,
oil tube, oil nipple must be cleaned out. No.3 general lithium lubricating grease (GB/T 7324-2010) is

recommended to fill 2/3 of the grease chamber. Bearing size see attachment 6.

13




8.3 Not damage flameproof conjunction surface when dismantling motor. The steps are: firstly
remove fan cover, and V-seal ring on the drive end, secondly remove the bolts on front and rear end
cover, and lastly take out the rotor together with the front end cover and cooling fan. All flameproof
conjunction surface shall be coated with 204-1 anti-rust grease.

8.4 Motor must be dried before use if it has been affected with damp by means of drying in the
oven or short-circuit current. The temperature should be increased gradually but not exceed 145°C when
dried in the oven. And when the motor dried by short-circuit method, it should be connected as short
circuit whose input current is 0.6-0.8 time rated current. However the short-circuit method is not
suitable for the motor which is heavily damped, since it may damage winding’s performance.

8.5 If the winding needs to be replaced, the original winding’s type, dimensions, diameter and
turns of coil should be recorded. Arbitrarily changing of winding will decrease the performance of the
motor, and even to damage the motor.

8.6 Maintenance or replacement of its components must be done by professional worker.

Table 6
Model DE bearing NDE bearing(up)(SAN) NDE bearing (down)
YBL160 6211-2RS 6209-2RS 51208
YBL180 6313-2RS 6313-2RS 51310
YBL200 6316-2RS 6315-2RS 51312

9. Storage and transportation

9.1 Select dry and clean environment where huge temperature change will not happen for motor
storage. And protect motor from the dampness and rust.
9.2 Motor can’t be packed to high since poor ventilation will damage its insulation.

9.3 Sided storage is recommended, especially protect motor drive end’s thread and tape.

14




2AM) 20

LIS J0)0[A] [ B14

soans HEWERER TH

uonaunluod jooadowe)y  a2400 [RUIIU FuLIEag

aepdaw ey

u BoH Y %z%ﬁ\

SuULIEY]

-t

aoje)g
X

JAA0D PUD JUQI ]

A030Y

T

B
A0 |BRILI)XD .,//
B

dulieag mf_nm % ﬁm

J2A0D [RII2)XD

oy "o

q s a4
;2::W@w_u1 m |

7
FREY WoHHY =

bepans uonaunluos jooadawey,| _

dureas o

ejans

FTEE o

k.

Wil EPRA

ue, |lu..1.1.1|\ ﬁfl. ._Cr M‘
A E.E‘
:mri_

BUIEas [10 U0IAYS

DIBLINS

uonounluod jooadawe) g

dIADD PUD AR

B G 5 N

aepans uodunluod

E .m\ ﬂ.%@ E ,@ ﬂ.% E Jooadaweg

E ,‘%ﬁ‘% E uordunluod

Jooadawey |

F5d

XK [RUIILId ]

15




- Ty m

[Puuny X0q :::..:.Z._.

AIMPINAS XOq [RUTULIDL 09 TH 781

F$FEWFH09IH ¢ &

doBpANS

Jooadawe | __E ﬂ w_ h

\
\.\
o
\.\
\.\
A
..\\
e
H\
=g} /)
2 3 iy
m o \\\\\\_...\
E -
[x] ] \\
LT
(-]
e
AT

.

dooj ASEQ JuIOf uun._._:.; u_uﬂ._ ns
Ny wondunluod  yopsunfuod
Jooadowe g yoosdawep g

[aued

HONIANN0)

Fr% Y

ApOq X0 [BUIULI],

16




AIMIDINLIS XO( [RUINLIAL 0OZ-081H € 31

%G ET-081H CH

durs smpeag

BEE | ®3uE | HE) [ oRwd..

| 240D
Apog xoq Jooadawey |

_ ., [EUIULIAY [eultIaL,
L r - I-_A_L

= R

FEHH

[Puuny XOg [BuiuLd ]

7 7 FeEH

JAAND X0

[LUTIREY

4
=l

hat

< A2

—_— ,\_,V[// //fﬂ/@
CRCE R B BEHYGH B &0

Aaepans LIS ELINS Suri-¢
uonoun fuoa Jooadau ey Jooadoueyy

Jooadawrey g peaay L puaay .

17




WERRP:

BERBAMERIZEBINE, [ERERMEFENVL, FPEATREME. RIEAIRS

ERMYUERIRES, BNBEAARKBESRHNEKR, HMIBERNEFERERE, BEH4AR
FRIEBGBRIF(IRE, LMEIIS0HE, AERMMLER. RERRS

LR BRI B IR RN BT AN (E AR B B IR E RZ BN

BOERSZFRREZHEEENRODERADPEFINBER TEE=Z0EH. QMmEEERNE
FiIZBABREA .

Dear user,

Please use and store the motor right following the instruction of the manual. We will make our
effort to provide you with high—quality and prompt service. Contact us if you had any questions
in application, and we will offer you timely and effective resolution; let us know if you had any
advices or suggestions, with which we can improve ourselves and make service better. Anhui
Wannan Motor Co., Ltd. reserves the right of final interpretation of the user manual. No copy,
disclosing or using of the content of this user manual to third parties prior to written permission
from Anhui Wannan Motor Co., Ltd.

ZRIZFAEBEIRODERAE

Anhui Wannan Electric Machine Co.,Ltd

it 2HERER)IEFEEE 86 =

Address: No0.86 Nanhua Road Jingxian County Anhui Province P.R.C
fHEL Sales department: 400-111-0563 0563-5031908 5031988
EF RS0 Customer service center: 0563-5031953

A EEL Enterprises management department: 0563-5031954
BEE#IEL Quality inspection department: 0563-5031910 5031985
fEH2 Fax: (0563) 5029999 5023698

It Website: http://www.wnmotor.com

E-mail: wndjc@wnmotor.com
BR4%s Postal code: 242500

AHBABASTNEE, BASBTEM.
Content in the manual may be changed without prior notice.



